
KITCHEN FINISH @ BASE 3"=1'-0" 4

CORE DRILL 1 1/2"=1'-0" 7

BASE CONDITION @ EXT. WALL 3" = 1'-0" 6

KITCHEN FINISH @ CEILING 3"=1'-0" 3

FRP

SUBSTRATE PER PLAN

CEILING TILE & GRID

A6.3

FINISH
DETAILS

BASE IN RESTROOM 3" = 1'-0" 12

CEILING MOUNT MONITOR BRACKET N.T.S. 2

CONTRACT DATE:

BUILDING TYPE:

PLAN VERSION:

SITE NUMBER:

STORE NUMBER:

PLOT DATE:

TACO BELL

1363 WASHINGTON AVE.
PORTLAND, ME

CONVERSION

07.06.2016

CONVERSION

FEBRUARY 2015

XXX-XXX

XXXXX

LIVE MAS - MEDIUM40

15034.000

07/14/16

1/2"

1/8"

INSIDE
CORNER TRIM
PIECE

OUTSIDE CORNER
TRIM PIECE

LOWER TRIM
PIECE (J-MOLD)

SEE SCOPE OF WORK FOR MORE INFORMATION

MARMOLEUM TRIM DETAIL 6" = 1'-0" 14

SPLASH GUARD 1" = 1'-0" 9

YA
C

00
1

MONITOR BRACKET -
ATTACH W/ 1/4" BOLTS -
SEE SCOPE OF WORK
MONITOR ASSEMBLY

BOTTOM TRUSS CHORD

CEILING TILE FLASHING
PLATE
DECORATIVE SLEEVE
ASSEMBLY BY MFR.

1/2" DIA ALL-THREAD
SUPPORT

BUMP BAR ASSEMBLY

SUSP. CEILING TILE

2X4 CROSS SUPPORT

2 - SIMPSON H3 CLIPS BOTH
SIDES OF CHORD & @ EA
END OF CROSS SUPPORT

NUT & WASHER TOP &
BOTTOM

NOTE:  U-239 FOR A
SINGLE MONITOR.

CONCRETE CURB

COVE BASE TILE

WALL PAINT ABOVE CHAIR
RAIL

MARMOLEUM PANEL

FACTORY PAINTED "H" MOLD TO
MATCH MARMOLEUM COLOR

BRONZE BOTTOM & CORNER
TRIM

CHAIR RAIL

MARMOLEUM TRIM DETAIL N.T.S. 17

SECTION AT CHAIR RAIL 3"=1'-0" 18

TA
C

11
1

LAY-IN CEILING TILES

SEE RAISED CLG

HGT. ON PLAN

VIEW

8'-4" A.F.F.

ALUM. T-BAR GRID

ALUM. T-BAR CORNER TRIM

ALUM. T-BAR GRID

LAY-IN CEILING
TILES

KITCHEN WALL

ALUM. RIVETS SAME
COLOR AS T-BAR
TYP.

1/2" x 1/2" ALUMINUM
CORNER GUARD AT
ALL OUTSIDE
CORNERS - TYPICAL

ANODIZED
ALUMINUM
WINDOW FRAME

SOLID SURFACE
WINDOW SILL

1/4" J-MOLDING &
CAULK

SUBSTRATE

1/4" MARMOLEUM
PANEL

CHAIR RAIL

NOTE:  THE MARMOLEUM PANELS, CHAIR RAIL & PAINTED MTL. TRIM ARE PROVIDED BY
THE DECOR VENDOR.  THE GC SHALL INSTALL PANELS TO THE WALL SUBSTRATE WITH
ROLLED ON CONTACT GLUE.  SEE SCOPE OF WORK.

1/2" x 1/2"
ALUMINUM
CORNER GUARD
AT ALL INSIDE
CORNERS -
TYPICAL

PANEL SEAM.
SEE DTL. 17/A6.5 TYP.

PAINTED GYP.
BD.

NOTE:  SEE DTL.
14/A6.5 FOR MTL.
TRIM.

MARMOLEUM ATTACHMENT DETAIL N.T.S. 13 NOT USED N.T.S. 5 WALK-IN TILE/BASE 1-1/2" = 1'-0" 1

CONCRETE PAD

GROUT

THINSET TILE

PANEL WALL

FOOD GRADE RTV SEALANT

SCREED

INTERIOR BASE COVE TRIM1 1/4" TEK SCREW

DYNATROL
SEALANT

HIT FASTENER

CEILING POCKET N.T.S. 10

BASE @ DINING EXT. SIDE WALLS 3"=1'-0" 16BASE @ KITCHEN EXT. SIDE WALLS 3"=1'-0" 20 BASE @ DINING ROOM INT. WALL 3"=1'-0" 8

WALL SUBSTRATE PER SHT. A1.0

COVE BASE TILE - SET FLUSH W/
FLOOR TILE

WALL FINISH PER INTERIOR
ELEVATIONS

COVE BASE TILE - SET
FLUSH W/ FLOOR TILE

WALL SUBSTRATE PER SHT. A1.0

WALL FINISH PER INTERIOR
ELEVATIONS

WALL SUBSTRATE PER SHT. A1.0

J MOLD SET IN SILICON SEALANT -
FILL J-MOLD W/ SILICON PRIOR TO
INSTALLING FRP, WIPE OFF EXCESS

SANITARY COVE BASE TILE -
SET FLUSH W/ FLOOR TILE

WALL SUBSTRATE PER SHT. A1.0

WALL FINISH PER INTERIOR
ELEVATIONS

WALL SUBSTRATE PER SHT. A1.0

5/8" CEMENT BD. SIZE 1/2"
SMALLER THAN SAFE FOOTPRINT.

GROUT TO MATCH ADJ. FLOOR.

SAFE - SEE SCOPE OF WORK FOR
SCOPE DEFINITIONS

FINISHED  CONC. SURFACE

ANCHOR BOLTS - SEE SCOPE OF
WORK - BOLT HOLES = 3/4" DIA. x 3"
DEEP

ALIGN FACE OF SAFE EVEN WITH
THE BACK EDGE OF THE SERVICE
COUNTER.

SAFE PEDESTAL 1" = 1'-0" 15S.S. CORNER & END WALL GUARD N.T.S. 19 BASE @ KITCHEN EXT. REAR WALL 3"=1'-0" 11

4"
27

" C
LE

A
R

 M
IN

. (
S

E
E

 C
H

A
R

T 
FO

R
 F

IN
IS

H
E

D
 H

E
IG

H
TS

)

3-1/2" DIA.

STEEL SUPPORT PLATE

STEEL SUPPORT

TILE GROUT

FLOOR TILE

CONCRETE SLAB

POUR-ROCK

LOW TABLE TOP HGT. = 30" A.F.F. HIGH
(H) TABLE TOP HGT. = 42" A.F.F.
DINING COUNTER TOP HGT. = 42" A.F.F.

FINISH TABLE TOP HEIGHTS:

3-1/2" DIA.  TABLES ONLY

PLYWOOD SHEATHING @ SHEAR
WALL

COVE BASE TILE - SET FLUSH W/
FLOOR TILE

FRP

J MOLD SET IN SILICON SEALANT -
FIT J-MOLD W/ SILICON PRIOR TO
INSTALLING FRP, WIPE OFF EXCESS

YA
F0

56

COVE BASE TILE - SET FLUSH W/
FLOOR TILE

WALL SUBSTRATE PER SHT. A1.0

WALL FINISH PER INTERIOR
ELEVATIONS

J-MOLD SET IN SILICON SEALANT -
FIT J-MOLD W/ SILICON PRIOR TO
INSTALLING FRP, WIPE OFF EXCESS

YA
F0

55

WALL SUBSTRATE PER SHT. A1.0

COVE BASE TILE - SET FLUSH W/
FLOOR TILE

WALL FINISH PER INTERIOR
ELEVATIONS

J-MOLD SET IN SILICON SEALANT -
FIT J-MOLD W/ SILICON PRIOR TO
INSTALLING FRP, WIPE OFF EXCESS

YA
F0

53

WALL SUBSTRATE PER SHT. A1.0

COVE BASE TILE - SET FLUSH W/
FLOOR TILE

WALL FINISH PER INTERIOR
ELEVATIONS

J-MOLD SET IN SILICON SEALANT -
FIT J-MOLD W/ SILICON PRIOR TO
INSTALLING FRP, WIPE OFF EXCESS

SILL GASKET - TYP. SILL GASKET - TYP.

SILL GASKET - TYP.

SILL GASKET - TYP.

24
" M

IN
.

E
Q

.

NOTE: CAULK ALL SEAMS AT WALL
SURFACE.

1"

2" FLANGE
BENT 90
DEG.

E
Q

.
E

Q
. 16 GA. BRUSHED

STAINLESS STEEL.  1/2"
HEM ON TOP, FRONT
AND BOTTOM EDGES.

BOTTOM EDGE OF
SPLASH GUARD SHALL
BE EVEN W/ THE EDGE
OF THE HIGHEST ADJ.
SINK.

EXTEND FRONT OF PANEL
TO FRONT EDGE OF ADJ.
SINK.  APPROX. 24" (SEE
PLAN)

1/2" RAD. EASED
CORNER (TYP.)

1"

(4) #12 S.S. WOOD
SCREWS 3/4" LG. W/ S.S.
WASHERS.

SEE A2.0

CHAIR RAIL.
3/4"

3
8"

MARMOLEUM
WAINSCOT

NOTE: SEE INTERIOR
ELEVATIONS FOR
FINISHES

GYP. BD.

P

FASTEN S.S.
WITH CONSTR.
ADHESIVE

EXTEND S.S.
WALL GUARD
BEYOND
SURFACE OF
WALL THE DEPTH
OF THE TILE AND
RETURN TO THE
WALL.

20 GA S.S. WALL
GUARD FROM TOP
OF TILE BASE TO
CEILING

FRP WALL
FINISH

S.S. WALL
GUARD FLUSH

WITH
SURFACE OF

FRP

TILE WALL
BASE

GROUT LINE

FLOOR TILE

2"2"

NOTE:  THIS DETAIL SHOW A 90 DEGREE CORNER.  ADAPT THIS DETAIL AND APPLY
WHERE WALLS EXTEND INTO SPACE.

MANUFACTURER
PRE-MOLDED

CORNER BASE TILE


